
Formulaire de primitives

f(x) F (x)

1

∫
1 dx = x+ C

xn

∫
xn dx =

xn+1

n+ 1
+ C (n 6= −1)

1

x

∫
1

x
dx = ln |x|+ C

sinx

∫
sinx dx = − cosx+ C

cosx

∫
cosx dx = sinx+ C

1

cos2 x

∫
1

cos2 x
dx = tanx+ C

− 1

sin2 x

∫
− 1

sin2 x
dx = cotx+ C

ex

∫
ex dx = ex + C

ax

∫
ax dx =

ax

ln a
+ C

1√
1− x2

∫
1√

1− x2
dx = arcsinx+ C∫

1√
1− x2

dx = − arccosx+ C

1

x2 + 1

∫
1

x2 + 1
dx = arctanx

f (g(x)) F (x)

g′(x). [g(x)]
n

∫
g′(x). [g(x)]

n
dx =

g(x)n+1

n+ 1
+ C (n 6= −1)

g′(x)

g(x)

∫
g′(x)

g(x)
dx = ln |g(x)|+ C

g′(x). sin g(x)

∫
g′(x). sin g(x) dx = − cos g(x) + C

g′(x). cos g(x)

∫
g′(x). cos g(x) dx = sin g(x) + C

g′(x)

cos2 g(x)

∫
g′(x)

cos2 g(x)
dx = tan g(x) + C

− g′(x)

sin2 g(x)

∫
− g′(x)

sin2 g(x)
dx = cot g(x) + C

g′(x).eg(x)

∫
g′(x).eg(x) dx = eg(x) + C

g′(x).ag(x)

∫
g′(x).ag(x) dx =

ag(x)

ln a
+ C

g′(x)√
1− g(x)2

∫
g′(x)√
1− g(x)2

dx = arcsin g(x) + C∫
g′(x)√
1− g(x)2

dx = − arccos g(x) + C

g′(x)

g(x)2 + 1

∫
g′(x)

g(x)2 + 1
dx = arctan g(x) + C


